x=zeros(1,256); 
size(x) 
x(129)=1; 
plot(x,'.') 
y=fft(x); 
help fft 
plot(abs(y),'.') 
plot(phase(y),'.') 
plot(imag(y),'.') 
plot(real(y),'.') 
x=zeros(1,256); 
x(128)=1; 
y=fft(x); 
plot(y,'.') 
plot(abs(y),'.') 
plot(phase(y),'.') 
plot(real(y),'.') 
plot(imag(y),'.') 
x=zeros(1,256); 
x(100:149)=1; 
plot(x,'.') 
y=fft(x); 
plot(y,'.') 
plot(abs(y),'.') 
u = fftshift(y); 
plot(abs(u),'.') 
help fft2 
A=zeros(128,256); 
A(:,1:128)=1; 
imagesc(A); colormap(gray) 
y = fft2(A); 
imagesc(abs(y)); colormap(gray) 
figure(1); imagesc(A); colormap(gray) 
figure(2); imagesc(abs(y)); colormap(gray) 
u=fftshift(y); 
figure(3); imagesc(abs(u)); colormap(gray) 
figure(4); imagesc(log(abs(u)+1)); colormap(gray) 
A=double(imread('cameraman.tif')); 
y=fft2(A); 
u=fftshift(y); 
imagesc(log(1+abs(u))); colormap(gray) 
figure(3); imagesc(A); colormap(gray) 
